NI3BH HEVDOHLIDVE i

NIBEODDHBIDLOLE T ZED19

1. ROEEZLEFL X9,

m 8+3=

@ 36 = 7=
®»5+3=

@ 12+ 5=
) 18 +5=
© 35+ 6=
@ 69 + 8=
® 1+ 2=

© 58 +8=
a0 51 +7=
an 21+ 5=
a2 44 + 6=
a3 35+ 7=

(14 1 +—3=

HEH

HED

HED

HEH

HED

HEH

HED

HED

HEH

HED

HED

HED

HED

HED

a5 50+ 6=
(16 38 + 6=
an 17 +2=
as) 30 +9=
19 38 + 7=
20 31+ 5=
en 46 = 7=
@) 35 +4=
23 20+9=
o4 23+ 5=
05 25+ 8=
26 31 + 8=
en 31+ 6=

) 12 +77=

HED

HED

HED

HEH

HED

HED

HED

HED

HEH

HED

HED

HED

HED

HEH

29) 20+ 3=
G0 S+ 2=
ey 14 +9=
(2 22 -+9=
33 61 9=
9 9+4=
35 6 +4=
c6) 49 + 5=
37 28 + 6=
38) 16 + 8=
3o 1 +4=
40 18 +9=
4 62 +9=

42 29 = 8=

\RZY YN http://www.study-x.com

HEY

HED

HED

HED

HEDY

HEY

HED

HED

HED

HEDY

HEY

HED

HEDY

HED



[Z272Z]

1.

m2HED 2
3 HFED 1
»1HED 2
@w2HED 2
$»3HED 3
©9IDHED 1
H8HED 5
®3HED 1
@97THED 2
a7 HED 2
and bHED 1
a7 HED 2
3T HED 6
a2 HEDH 1

158 HED 2
166 HED 2
an8HED 1
a3 HED 3
198HFED 2
6 HED 1
en6HED 4
28 HED 3
)2 HED 2
dHED 3
3 HED 1
3 HED T
en5HED 1
e 1 HED 5

26 HEDH 2
2 dHED 1
el HED S5
22HFED 4
HOoHED T
2 HED 1
a1 HED 2
69 HFED 4
end HED 4
®9IDHED 4
a1 HED 3
w8 HED 6
a6 HED 8
w3HED S



